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No. 28 BB+F 50m Fjk=F A LL—R R

L thEE >

B & £ Fr & 2E KK B FH
L L 3 A H A, 2 2/ 6 33.17 9% ( 0.69)
2 R JRIF WAMS C H2 2/ 2 34.52 8% ( 0.75)
3 fHH R HWhy7FSC 2 2/ 1 34. 89 8#% ( 0.63)
4 fnpE o WHMHSC 1 1/ 4 36. 80 8% ( 0.72)
5 /NEp  JEA Hhy7SC %2 2/7 37.03 6% ( 0.65)
6 [AFT J S SR W3 1/ 5 37.60 4% ( 0.70)
T KE R A 1E 2 1/ 3 38.30 5#% ( 0.76)
8 fRIK. 2 B — MARK H2 1/ 6 38. 81 5%% ( 0.69)
9 JEK kA Ky 7SC 1 1/ 7 39.27 6% ( 0.67)
10 A% Tk WHHS C 1 1/ 1 43. 67 L% ( 0.88)

No.28 BF 50m FjkF B A LL— R R

£ BRE >

B K £ T & PE KB B FH
1 V2 ] S SRR ml 2/ 4 30.76 9% ( 0.62)
2 AKEp ER L KL 12 2/ 3 31.77 8#% ( 0.53)
3 HE B Bhy7FSC  E2 2/ 5 33.02 T#k ( 0.63)

HAOBRME:  5H9H 14:37



